AP Calculus Summer Assignment Name: ILQ,V\J

NEATLY SHOW YOUR WORK ON A SEPARATE SHEET
OF PAPER. Please BOX YOUR FINAL ANSWERS.

Evaluate. You should be able to do these without a calculator. You will be expected
to work similar problems on a quiz or test without a calculator. Your answers should
be in radian measures.

\'{E. |
1) nrc.sin[T] 2.) arctan(-1) 3) cos"(-—-ﬂ-] 4.) nrccos(O) 5.) tan™ (0)
oy =Ty 27/ o, o)

Solve for y:

o "Tl"-'"’%”"' = 5 -5
3y —
\{ 3 xLox?

Rewrite the following using interval notation

7)-7s5x<9 8.) x <12 9.) All real numbers 7, '
' E“—\lo\\ (."0""’/\7‘\ ST
Find f~'(x)for the following fuuclions.
10) f(x)=e" 11) f(x)= 2 12) f(x) = e 13.) f(x)=x*+5
=\ = Fre P [ ) i -
6“ (x) Jm.x & = % ¥ ,{)“Lx\— o8 "X B D=5
For each of the functions find the indicated value. |

14.) Given f(x)=sinx; Find f(7), f(gﬂ'} '_Ldtv\:o ‘6(2-_%".): ;[__;3_
15.) Given f(x)=3x-1; Find w ?)

16.) Given f(x)=x’; Find / (“”'h)_f (@) T?o[‘a—zo\k -"\rx"“

-2x-6, for x<=-2

) 0 (-H=7 |
17.) f(x)=42-x", for =2<x<2; f(-4), f(2) -7
2x—6, forx=2 »b(‘ ) ik .
Simplify.
18,) Ine*> 19.) € K F
| X-3 4 X~

Rewrite the following in simplified form.

a \ Line?

2a
20.) In—-1
) nb n

2

- 21.) 41 -31 - . 22) -1
‘,;U\z ) 4log(xy)-3log(xy) ,bnbcy)_ )3ne

Algebraically determine the x and y intercepts. Name the intercepts as points.

23) y?=x’-4x 24) y= ﬁ
(0 0\ (H, D) (—-2, Q) (- ‘/Q3 (012—)
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Algebraically determine the domain and range of the following functions.
State your answer using interval notation.

"5)](1)-"1 +41D:A- "’2\\)(’1 2y 26.) f(x)=In(2x" +4x-30) O (-e= 5) vz, o)

x' -4 VU2, 00) ' )
R: (~e0 0)V(D, ) L omit
State the EQUATIONS of any horizontal asymptotes and/or vertical asy mptotes.
State the domain and range. HA“yz=0 VAL X=-2 ]

27y y= it WA= 8 yo 23 0l D ULZ, T
X _‘-__'lﬂ VA'%"gx q ‘\‘.)+t 6 \)(.1 ”)

" e e, AW ON(Y, o0 2 (2ee, 1YV 1, 00) % ( ‘CS’ .,
Sl\clch a nraph of the function and find the value of the Indicnlul limits. Stnl =

whether the function is continuous or discontinuous,

J-x, x=l
29.) f(-"):{ q\.l |1. ¢ lim f(x). lim f(x), lim f(x)

S%J‘_

2 & 2 wovihvvou!
3
N —\+— I'urOS\S3 : , :
CRAC x)=  lim £(x), lim f(x), lim f(x)
.H-S for.\'>3 e W O WE OU:SUDVMY\UL\')V‘J
Rewrite the following as a piecewise function.
31) _\-=|x+l] E VAR x>V 3y pafx-243 | X+‘5 € x<2
x+1 —\ i‘F X<-\ \{ e
| L = X222
Graphically determine if the following is an even, odd or neither functlon. "
33) y=sinx  odd 34) y=cosx | e e

Use the f(—x) test to determine whether the following is an even, odd or neither function.
Then state the type of symmetry (y-axis, origin or nelther) of the function.

35) f)=F+1 | rdane 36) f(x)= ? \Oo\d 0\403\\-\

Use 3our graphmg calculator to find the POINTS of mtersectlon of the graphs.
37)x+y =13 (0 Z 3.L) 38)y— (—-\ LOLDLO 0. \?OD

= = 2
Zety=4 “1(3, -2) y=sin() | (3,191, 0. 04)
True or False - | X C ..

\

A T 39.)If(1,-2) is a point on a graph that is symmetric with respect to the y-axis, then (-1, -2) is also a point

T T

on the graph.
40.) Given a function f{x), if f(a)= f(b),thena=25.

41.) If fis a function, then flax) = af{x).

Find the equation of each line. Answer MUST be in POINT-SLOPE FORM!
42. ) point (-2,4); m= ——2— 43,) through (-3, 0) and normal to 2x -y =6

N =) = 1‘(&4’2\

(You wrll need to look up the definition of a normal line.)

\,’D- Z(Kk?)
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Solve. You should be able to do these without a calculator. You will be expected to work similar
problems on a quiz or test without a calculator.

44)4cos x-4cosx+1=0 where 0sx<2r X~= l;- 5—33-
45.) sin” x=2sinx=0 wherc 0S v <27 %= 0, 7, 217
T | = T e i J
46.) t; x'+dxe’' 43" =0 y<= -3,~\

47) ¢’ =1=0 y=9p
48.) ¢'45=0 %

49.) Given f(x)= —'—; glx)=vx+2;
X
Find  a) f(g(x))

by f(=(14)) I\y_ c.) g(/(x)) and give domain. '\; 31(‘ rZ

Axaz

b J I . 1\
50.) Given f(x)=x? =1, g(x)=cosx; O 'k, V(0,29
Find  a) f(z(x)) b.) gof(x) and give domain.
coSVK —\ c,oS(y\”—-\\ D (- ooj ‘
31.) Find the arca of an equilateral triangle whose sides are 6¢cm each. A2 cov
52.) Find the arca of a trapczoid with height 12in and bases of 6in and 9in. A0 n*
53.) Find the volume of the right circular cylinder with radius Sin and height 14in. 2<o T |‘r\fi'
54.) Find the lateral surface area of the right circular cylinder with radius 5in and height 14in.
\AD T i~
Reduce cach completely.
2 Yx - 2 %
§5) = 3l 56 1) lx 2)f3(x+1) X =ty ™ -3Zx +\
= Y\ (x+]) 2 s
* X 7 *3x" ¥Sx -\

Trig 1dentities—Match the statement on the left with an equivalent statement from the right.

57.) sin’@+cos’ O = . A. cos’@-sin’6
58.) sin’éf= E B. sec’d
59.) cos’@= E C. 1

60.) tan’@+1= 2 D. sin26

61.) 2sinfcosf = ‘D. L 1—c;s2¢9

62.) cos28= 1+cos26
A F. _-2——

e a . .
For f (x) = kx , where & is a constant, indicate the concavity and increasing/decreasing
behavior of the curve in the first quadrant for the following:

63.) ifa<0 CONCONE UpP, alJLCJV?_OJI\na
64.) ifa>1 cmvxc,o\ve WPy _inoveasing |
65) 0O<a<l ‘concoVe  davun, Mcfrmsnv\g
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66.) A student who commutes 27 miles to attend college remembers, after driving a few minutes, that he
forgot his term paper that is due. Driving faster than usual, the student returns home, picks up the paper,
and once again starts toward school. Sketch a possible graph of the student's distance from school as a
function of time. Sketch a possible graph of the student’s velocity as a function of time.

(see wvordbook ')

67.) Supposc a pet owner decides to wash her dog in the laundry tub. She fills the tub with water, puts the
dog in the tub and shampoos it, removes the dog from the tub to towel it, then pulls the plug to drain the
tub. Let 7 be the time in minutes and /(1) be the water level in the tub at time ¢, If the total time for filling,
washing, and draining is 40 minutes, sketch a possible graph of h(r)

(Ses hm-\"-\ovu\u’,)

Use the graph below to graph the transformations,

(6, 6) 68.) f(x)+2

69.) 2/ (x) N

70.) f(x-1)

(8,0) 71.) 2f(x)-2

(see o eav L \‘_’_.3

Graph each function. Clearly indicate units.

72) f(x)=x 73) f(x)==x} 74) f(x)=x 75 f(x)=|A

76.) f(x)=sinx 77.) f(x)=cosx 78.) f(x)=tanx 79.) f(x)=sin"'x
80.) f(x)=cos™' x 81.) f(x)=tan"'x 82) f(x)=e* 83.) f(x)=Inx
84) f(x)=+x 85) f()=—5 86) f()= 87) f(x)=val - %

Limit Problems. Find the following limits.

. x+sinx — x* -1 i 2 =1 '
88) lm— 89) lm-——s (=09 %) lm-———7 |\
3 ' 3
' -1 ) -1
o1) lim———[_\ 92) lim—— {2\

-2 —x—x? =1 2—x—x°
Define the following. You might have to do some research.

93.) Average rate of change

94.) Instantaneous rate of change S e wor2bobk
95.) Extreme value of a function . 5 \
96.) Critical point of a function 1% Y=

97.) Point of inflection of a function

Congrats! You finished © Almost... 98.) Go get some ice cream and do something FUN outside!!

Scanned with CamScanner



Pl

i ST AR /\" \ QNN —~ | t:\/ 5
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- -h\n ‘(0)= D s e P
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s S0 Gy = /LVQ , ‘
L W k= mm o N2 = e o = v ST (0w w2
& L ‘,{’C_Y.)_C&_X = f, (x\ O ‘(xﬂ ] ﬁf_
B 3 x=Prm s (e ym o = —FT; md VN =x{yg|
I P o A T i

15| b= A0 = 2\ ~(30) = 23 =20y =13]

%=\ Y % <4 x=\_
el AlarW )= J) = (0= of = oFx 2ol +2aly x|l —sv?’}
e , I A

:P_é?xl r3aln | :
4= 2 () b =% ~L=(2]  fo)= 200\ -bzy-(={z2]
2 Wlx-2]
B A=
i 20 _iza(.f?XT- UnlZ - BY=n () |
L 3
-f._._zj_ og Lup) '“‘
22| LA = Jn e <[22 | ‘
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X-m¥.} 0= x(x-t)
K0, =t
{(0 O}, Lw, __)_J
24 IX=iInt" 0= ¥ +2x+2L
[ X ooy
, (-2,0),(-), 0
25 %% 4 3 o hﬂu
(X\*'L\(x.-’?_):z-o
: X4 ¥72 £, ST . )
(o) o
26 Y x* rUx-20 % 0 © e 1 ©
Ko dl% S e e ” .
o (R *8)(x7RY 20 (c2, =) (2, o) |
_ oMyt b o) ) s
27 = (xR x=-2, y=u )
(x-D(xr2) A =\l \
(O oo U2, NV 09)) R (cem, VU, )
2| = 2x -3 Yole B x=32 Nl Xe 2 ] -
D (2x-2D) ' m _
[0 C v, 2 VEh A i Cumnulo )
24 g\:&\//\ Lo, ,@_X.) _.lm.@m___l‘&mm‘ﬁ(} —-@
T— v nuaous
20l o L _pod =(¥] .\ &—
: / - }m-ﬁ @f_.?%nﬁmn\)\f\
AN Aigv_;h()d =[ONE
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N+ o ‘D,._.k i

l =3 -)(—\"Z +3

\’:_ X‘!'\___ — \J --x+-‘~‘

e ————

_At‘f'

Mvww \YVJ Q\CMD\(.S A\ Q_v'\c:\r\

&(x\# A= x) * J\()c)

. "JLJ\’ —y3 =\ f -H/\,Q/‘(l
el NG Rt (B3 b =R X= hl=xy == 1 ()
—,g}(x) = ~ &k Em\ob, o\nqlv\\
3 My = \3—x2 ﬁm@ .
e = =
P ey SRS f—o«z_ 20 ol (2, -D))
Bl Zardfo\ﬂ Mode | Theye ove ﬁr vifinid-e M AN ]

colltions. Ex:[(—LGble 01%A),_(=2.1\G, 0.0=el) |

24 [[Trwae) \rﬁm\mj 2 4 (Earse )
Uz r 4= -3 ( x—kl\\
I"'B \ =2Zx-(p i B Z N oy — —_‘l'z- |

(D = Nz (x +2) \

Ux*—yr+1=D e e 8% = o

(x=V=)"= / [;(:Trlg,] 5T}z 7}
x-...llfz :D
X=1lz—"
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v o L\{ =0 (2 SinX= =0 _ =2 S
¥y -2 =0 _,‘LE . N
\| o 0' ;g i S 7

X (x> +Ux +3) =p . 4
X Ax * N (x+A=p 1
e =0 x*\- x+3=p: S A
7 = L Gl D S L
e'* -\ =0p 4. X +5=0
e % =\ S Sl el iR PR
tUx = o iR

1 = o __

4ala. thcmL_( rr BT A T T T 220 4§
,,,,, b. [0z 5w~ @ <z-2 8
__lec. g(fGM= 1@ ) Dﬁl_‘i'?-m(o,acﬁ)*x_m 'l
5t {6 4}(%@3_@;«—-\\ ik
b. a ( 1) LN = (eos (x> ——\ﬂ 0. T-\_Z KC' 0, oo\_\
S\ ’@qu_im -—ﬁm ’ -
52| Az Y () {ore) TAD0et) . .
SR |VE T () E Y;é_@JLm.J ¥

T
55

AZ 2T (2) (1) 42T Lo = 277 (05) =\ A0T 3t

X =]

Bb] eV [ (x D 32 = (w2 v2
L~ L}W‘YT (x+)¥ - (- xan)* 0
_,__“" P R o\ | i

P e e st it et - g B

._.,....X?’ 2yt 4 3x
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